
 This is a slightly modified copy of something already posted to
the reflector. 

If i look at abler_01_0106 and abler_c1_0106, and do some eyeball
interpolation (the data is too jumpy to justify anything more precise.)

       Source of Interference      EIT equivalent       sum as
           Crosstalk                   10mV               RSS
           Self Interference           10mV               RSS
           50mU p-p DCD                 7mV               Linear
______________________________________________________________________
           total                       21mV
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